ECON/AMS 11A FExam 1 — Solutions Fall 2016

1. (5 pts) Solve the equation:
2e+1  x+5

3r—2 3r—1

(i) Cross multiply:
2r+1  x+5

3v—-2 3z-1
(ii) Expand both sides of the equation:

— 22+ 1)Bx—1)=(x+5)(3z—2)

2z +1)(Bx—1) = (x+5)(3x —2) = 62° +2—1=32"+13z — 10
(iii) Collect terms (on the left):
62> +2—1=327"+132 - 10 = 32— 122 +9=0
(iv) Solve quadratic equation by factoring...
302 - 120 +9=0 = 3(2? —42+3)=0 = 3z —-1)(z-3)=0 = z;=1and 25 = 3

.. or using the quadratic formula:

12 ++/144 — 108 12 ++/36 12 -6 1246
327 - 120 +9=0 = z = = — 21 = —landay = 1> =3
6 6 6 6
2. (5 pts) Solve the pair of equations:
or 4+ 2y =3
Tz + 3y = 11
(i) Multiply first equation by 3 and second equation by 2:
Sor+2y = 3 15z +6y = 9
Tr+3y = 11 ldx +6y = 22

(ii) Subtract second equation from first equation:

(15z+6y = 9)
—(ldz+6y = 22)
z+0.-y =-13

(iii) Substitute x = —13 into (original) first equation:
5(—13) 4+ 2y =3 — 2y =3+65 — y = 34.

(iv) Solution: (x,y) = (—13,34).
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3. (5 pts) lim T —2 lim (x+2)(z—1]  limg1(2 +2) _ 3

a1 a2 —1 o1 (x+ 1) (z—1]  limg i (x+1) 2

2 _ .2 2
4. (5 pts) limm:lim%—i_%ﬁl_‘_h %:hmw
h—0 h h—0 h h—0 )3

= lim 2z + h =2z
h—0



